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BACHELOR'S DEGREE PROGRAMME 

(BDP) 

Term-End Examination 

December, 2019 

APM-01 : INTEGRATED PEST MANAGEMENT 

Time : 3 Hours 	 Maximum Marks : 100 

Note : Question No. 1 is compulsory. Attempt any 

four questions from question nos. 2 to 6. 

1. (a) Define the following terms : 	5x 1=5 

(i) General Equilibrium Position (GEP) 

(ii) Benefit-Risk Ratio 

Cultural Control 

(iv) Host-Plant Resistance 

(v) Integrated Pest Management 

(b) Give the expanded forms of the following 

abbreviations : 	 5x 1=5 

(i) IETK 

501 (B-24) P. T. 0. 



[2] 	 APM-01 

HaNPV 

SIRM 

(iv) KVK 

(v) GMO 

(c) Give one word for each of the following : 

5 x 1=5 

(i) Chemicals that modify pest growth 

pattern. 

(ii) Chemicals that kill mites. 

(iii) Pests that cause damage to crops 

throughout the year. 

(iv) A control method that utilizes 

machines or manual action for pest 

suppression. 

(v) Morphologically 	similar 	but 
physiologically different populations of 
a pest species. 

(d) Match the column I and column II : 5x 1=5 

Column I 	Column II 

(i) Organophosphates (A) .  Trichogramma 

(ii) Piercing-sucking (B) Malathion 
mouthparts 
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(iii) Parasitoid 	(C) Mosquito 

(iv) Stored grain pest (D) Locust 

(v) Polyphagous pest (E) Khapra Beetle 

2. (a) Differentiate between the following pairs of 

the terms : 

2-2x4=10 

(i) Mathematical and Simulation Model 

Allomone and Kairomone 

(iii) Parasite and Predator 

(iv) Cultural and Behavioural Control 

(b) Give the scientific names and damage 

symptoms of the following crop pests : 

5x2=10 

(i) Pink bollworm 

(ii) Gram pod borer 

3. (a) Write short notes on any two of the 

following : 	 5x2=10 

(i) Ecological Succession 

(ii) Microbial Pesticides 

(iii) Pest Risk Analysis 

P. T. O. 
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(b) Describe the damage symptoms and 

management of nematode and rodent 

pests. 10 

4. (a) Explain the concept of IPM. How can 

ecosystem be modified to reduce pest 

populations ? 	 10 

(b) Discuss the applications of simulation 

modelling in pest management. 	10 

5. (a) Discuss the essential components of SIT.10 

(b) Briefly describe the mechanism of host-

plant resistance. 	 10 

6. (a) What is a Farmer Field School (FFS) ? 

Discuss its main features. 	 10 

(b) What are plant health clinics ? Discuss 

their prime mission. 	 10 



5 	 APM-01 

thing, 3qi i chi sb4i ( 

Rtiusgt, 2019 

RARIT.-01 : timichRtt 	nan 

RPM : 3 EfErj 	 airtmwst  3IWi :  100  

wir : 5/77 WWW 1 aerdIzi 1 W  TIERIT 2 .4 6 

126-67 WIT 377-4* ref 5 	°NI 

. (Ti) 14-1 ri fact Tr4 	4rk1 11rWd VINR : 
5x1=5 

(i)  	fea 
tom-littm 39qm 

(iii) TR:11  fitiAur 

(iv) IfeliTit-VctI AM*/ 

(v) timicoRiti milet) ARAN 

(a) 	 Tifitm vra mi 	rota.  

: 	 54=5 

(i) IFTK 

HaNPV 

P. T. O. 



[ 6 ] 	 APM-01 
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(iv) KVK 

(v) GMO 
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